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Annual Examination, 2021

B.Sc. 1
CHEMISTRY
Paper 11

(Organic Chemistry)
Time : 3 Hours | [Maximum Marks : 33
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Note : Section A is objective type and is compulsory. It should be
written on the first page of Answer-book. Section B is Short
answer type and Section C is Long answer type.

@Gug ‘31’ / Section ‘A’ 1x8=8

aglaareara g9

(Multiple Choice Questions)
e : T8 FW FT/

Note : Choose the correct answer.

1. IqETHT *1 Fad §—

() o-n E’ﬂ"'ﬁ? (¥ n-n a'g{m'—r
(¥) o-n I (%) & @ I T

P.T.O.

[2]

Hyperconjugation is also known as :
(a) o-n conjugation (b) n-n conjugation
(c) o-n conjugation (d) None of these

2. Gaifeh TRl ShTel e §—
@ @
(31) C.H, (@) CH,CH,
® ®
(®) (CH,),CH @) (CH),C
The most stable carbocation is :
o) @
(a) CH, (b) CH,CH,

(© (CeHs)zcj?I (d) (C6H5)3(®:

3. =1 § 9 = 91 At SafadE SHeEdr 9nar §—

(1) 1-9 (3) 2-7=2H
(%) 1-=72H (3) 1-e<m
Which of the following compound shows geometrical
isomerism :
(a) 1-Pentene (b) 2-Pentene
(c) 1-Butene (d) 1-Heptene
4. FTEFARFIT T ThiT-F1 HEIV FAfeIh TR T—

(37) &l &9 (3) T &Y
(W) ForeTmET  (3) TH FH w9
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[3] [4]
Most stable conformation of cyclohexane will be : 8. IS & T 9] | SIS & foha o19] fomam o Tendt B—

(a) Chair form (b) Boat form (393 @) 2
(c) Twist boat form (d) Half chair form @ 1 () 4
5. IR 377 o Geh113Teh THIEASET hi T&AT BRI — How many ozone molecules can react with one molecule

of Benzene :

(1 () 2
(a) 3 (b) 2

()3 (S) 4 (© 1 (d) 4

No. of optical isomers for Tartaric acid will be : @uz ‘T’ / Section ‘B’ 2 x5=10

(@) 1 (b) 2 o7 AT G97

© 3 (d) 4 (Short Answer Type Questions)

e 9} gt ye SAfar € don et gl § SAidfies == 1 fashed 21

Note : All the five questions are compulsory and each question has

6. SIS H o TH 1 a8l ol T&A & HAI:—

(%63 (%) 3,6 an internal choice.
@) 12, 3 (3) 3TH 9 =S Tl 1. STt 6 gor H e geiel am g, =i 2
No. of 6 and n bonds respectively in Benzene : Aniline is weaker base than Ammonia, why ?
(a) 6,3 (b) 3,6 o (O
() 12,3 (d) None of the above e et 1 T 6 8, 2
’ PIAES T Tl ol e Hyperconjugation is also known as “No bond resonance’
() CH,=CH, (&) CH,-CH, why ?
(¥) CH, (%) CH=CH 2. e oy w gy feoof fafem |

.. . : . . Write a short note on Recemic mixture.
Aluminium carbide on reaction with water gives :

(a) CH,=CH, (b) CH, - CH, 7@ /Or

(c) CH, (d) CH=CH Frfafea et 1 R-S fafa @ efufa=ma fuffa sifse—
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II—I AAT /Or
@) CH,—C—OH e

COOH Frefafea stfufswan qui FHife—

Alcoholic

(i) CHSCHZBI‘ W’

cn
(i) H_(é_HCH = CH, (ii) CH,CH,Br 2
2775

Complete the following reactions :
Assign configuration to the following compounds via R-S

system.: (i) CH,CH Br 2ol
() CH— (:P:I _oH (ii) CH,CH,Br —r>
COOH 5. ARFANISIESEHA UM & TUHCH HaER i GHEAET |
- (|:H3 Explain aromatic behaviour of cyclopantadienyl anion.
R s On

Hed-shTFe fufsran &1 Seretu gfed THsmsT |

3. UEFAUeh & Tt SRR & d91d fagT ol 9HEET |

Explain Baeyers strain theory for cycloalkanes. Explain Friedal-craft reaction with example.

@ug ‘g’ / Section ‘C’ 5x3=15
e /Or
g 3wt gvT
HIgFleeh & foheal <1 qamafTes 1ot sl fafe | (Long Answer Type Questions)
Write any two chemical properties of cycloalkanes. e ; goft uter yve offqard § qen 9eft uuel # oAidies 99 1 ooy
o ¢l
4. g1 srfuferan wl THREIfE TR digd THET
Note : All the five questions are compulsory and each question has
Explain Wurtz reaction with chemical equation. an internal choice.
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1. SSRITEE! qel AfHeh SAfYehtishi sh1 ETeLl Hied HHLATET | Draw various conformers of n-Butane and write their
Explain Electrophilic and Nucleophlic reagents with stability order.
suitable examples. 4. TeRTETe % Fstelie w1 frafafer fetfe
e /Or Write the mechanism of dehydration of Alcohol.
TRl Hoteh fohdl Sed © 2 39 T 1 fafy wa S=mn w1 aofA —
HifSTT |
What are free Radicals ? Give their preparation method i !
and structure. Explain Markonikoff rule with suitable example.
2. TAfafed =1 gusmEt— 5. Wiifeehd ud Hafud gohel 99 1 SeTedur gfed dHeisT |
(37) e 2T, Explain Aromaticity and Huckel’s rule with suitable
(9) dee gfdeim | example.
Explain the following : e /Or
(a) Meso compound, SIS BT T T IO HIfST |
(b) Waldon Inversion. Explain structure of Benzene.
g /Or O 00 0 0 CO 0000

S AeEafadl o Jeahol S fafedi o1 quie sifer |
Explain method of separation of Geometrical isomers.
3. HigeRAIeRI H HEA FHEET |
Explain conformation in cyclohexane.
e /Or

n-I2 & fafq= HEqu EA IR S TR A 1§
fafem |
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